D1vISION WITH A REMAINDER II (H - SET 4)

DIVISION WITH 1 TO 10 Hame
Time: Score: J

1) 33683 -4 = ) 17528 =5 =
62) 44420 =6 = ™ 06428 -9 =
63) 3506 =1 = ) 17931 -5 =
64) 74736 + 8 = 6045 + 7 =
65) 14602 =— 4 = 80) 37203 =9 =
66) 12723 = 6 = s 44733 =10 =
67) 77925 = & = 82) 22977 + 3 =
65) 29325 + 7 = ) 3360+ 1 =
69) 22066 — 6 = s 2878 +8 =
) 64956 +~ 7 = 55 7680 + 3 =
) 27641 = 5 = s6) 13282 + 2 =
) 19128 -2 = s 4691 + 2 =
) 5635 — 9 = s8) 42287 =10 =
) AT4 =~ ] = 89) 23889 + 4 =
) 4993 = 5 = 00) 68710 =9 =

Mathematics: Division - Level 8 - Horizontal - Set 4
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